STYKLISTE

Side 1
MODEL 9027S
Pos. Art.nr. Betegnelse Stk. Note
001 2110879  KUGLELEJE 1
002 681630-2  ISOLERINGSSKIVE (9029SF) 1
003 526013-8  FELT KPL.(9027/29SF) 1 220V
004  415647-1 FELTAFDAEKNING (9029SF) 1
005 516593-2  ANKER (9029SF) 1 220V
INC. 1,2,6
006 241859-8  FAN 80 1
007 285672-4  LEJEAFDAEKNING 57 (9029SF) 1
008 211132-0  KUGLELEJE###(211111-8) 1
009 226701-4  KEGLETANDHJUL 15 (9027SF) 1
010 961005-4 LASERING S-9 1
011 911263-2  SKRUE M5x40 4
012 4214217  GUMMISTYKKE (9029SF) 1
013  414990-5  KAPPE (9029SF) 1
014 233031-6  TRYKFJEDER 12 (9029SF) 1
015 266464-0  INNENSECHSKANTSCHRAUBE M5x20 1
016 256431-3  STIFT 6 (9029SF) 1
017 152492-0  SIDEGREB 36 1
018 265976-0  SKRUE M5X10 1
019 961057-5  SKIVE S-17 (DA6300) 1
020 221389-5  KEGLETANDHJUL 50 (9027SF) 1
021 962157-4  LASERING R-40 1
022 2112782  KUGLELEJE 6203DDW 9029S 1
023 316399-6  LEJEHUS (9029SF) 1
024 322512-6  SPINDEL (9029SF) 1
025 251383-3  SKRUE M8X30 (9029SF) 1
026 165045-6  SKAERM 9027SF ## 1
027 122444-5  AUFNAHMEFLANSCH 47 1
028 192567-3  S-MQTRIK 9029SF 1
029 254001-2  KILE NR. 4 1
030 911223-4  SKRUE M5X16 (9029SF) 4
031 159469-6  GEARHUS (9029SF) 1
032 182815-8  MOTORHUS 1
INC. 49
033 857203-5  TYPENSCHILD 9027SF 1
034 687010-0 BAND 1
035 911691-1 SKRUE 9217SPC 2
036 182824-7  HANDGREB S/AT (SORT)(9029SF) 1
INC. 45
037 265016-4  SKRUE M6X85 (9029S) 1
038 265999-8  SKRUE M4X25###(266374-1) 4
039 666216-3 POWER SUPPLY CORD 1.5-2-2.5 1
040 682503-2  KNAEKBESKYTTER (DA6301) 1
042 687063-9  KABELKLEMMEPLADE###(687052-4) 1 240V
043 265995-6  BLIKSKRUE 4x18###(266326-2) 2
044 651178-8  AFBRYDER###(651179-6) 1
045 182824-7  HANDGREB S/T (SORT)(9029SF) 1
INC. 36
046 645088-9  KONDENSATOR 1
047 1919577  KULS/AET CB-204 1
048 643700-5  KULDAEKSEL (HM1800) 2
049 819095-0  MAKITA MARK 1
051 539100-4  MODSTAND 9029SF 1 240V
052 818160-2  INDICATION LABEL 1
AO1 782407-9  TAPNOQGLE 35 1
A02 818161-0  INDICATION LABEL 1
BO6 182943-9  "TANDHJUL SAT 15+50 7" 1
INC. 9,20
EO5 536011-4  KABEL 1
EO6 5360122  KABEL 1
E07 654552-9  FORBINDER (5903R) 2




EKSPLOSIONSTEGNING

Side 1

MODEL 9027S




